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Roch: >1. vrrmthciltc auf 10000 über >r Jahr alte Einwohner »ach Gtaatcn und «Landrsthcilen.
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1 13 14 1 5 10 47 18 10 20 21 2 2 2 3 2 4 2 5

Prov. Ostpreußen............... 15,4 0,l» 8,» 15,» 1,2 50,o 5,4 0,22 5,8 2,4 1,04 5,4 0,87
» Westpreußen............ 0,7 0,13 8,8 10,2 1,8 58,4 ^,7 0,3» 5,8 2,4 0,84 5,7 >>,»4

Stadt Berlin...................... i«;,» 0,04 5,8 5,o (f, 5 42,2 12,8 0,»8 4,4 0,4 2,4 8 2,7 «>,»8
Pro». Brandenburg.......... 13,2 0,4 0 5)3 0,4 0,u 32, s 3,7 0, 4 4 2,2 2,7 0,8» 3,8 0,2»

» Pommern................. 11,» 0,07 5,8 12,» 0,7 20,8 2,8 0,»» 2,u >,» 0,48 3,4 0,2 3
» Posen........................ 13,4 0,2 4 8,s >0,8 2,t 71,2 0,8 0,24 0,8 2,8 0,»8 l>,» >1,38
» Schlesien ................. 15,» 0,4 8 7,« 10,7 1,4 41,4 5,4 0,2 8 4,2 3,4 0,«2 3,8 >>,28
» Sachsen.................... >2,7 0,08 4,8 8,7 1,4 27,4 4,1 0,4 2 2,' 3,4 «>,74 3,4 «>,4 4

» Schleswig-Holstein.
<t

0,0 I 3,4 3,8 0,4 20,3 3,8 0,»4 2,8 0,4 4 2,0 «1,2»
» Hannover................. 0,7 0,0 8 l>,» 0,2 0,7 22,» 3,8 0,U2 3,4 «>,8» 3,u 0,4 8
' Westfalen................. «i,o 0,0» 3,7 1 1,8 0,» 17,7 2,s 0,l2 1,2 0 2 0,7 3 3,8 0,0»
» Hessen-Nassau....
" Rheinland...............

I«i,8 0,4 2 5,7 8,8 1,3 25,2 5,4 0,»8 1,8 3,u 0,8 4 3,3 0,4 8
7,« >>,U8 4,8 11,2 0,4 10,4 2,4 0,08 1,4 2,2 0,7» 3,8 0,»4

Hohcuzollern........................ 11,» — 2,» 3,7 0,4 12,4 1,7 — 0,2 1,0 0,8 3 2,7 0,2 4

Königr. Preuße» 11,7 0,4» 8,u 11,4 1,0 33,7 4,4 l>,4 8 3,o 2,4» 0,8» 3,8 0,2»

Die 3 Reg. - Bez. Franken. 14, l 0,4 4 V,» 17,4 1,8 31,4 5,4 0,4 7 2,4 3,7 0,8» 3,» 0,0»
Oebr. Bayer» r. d. Rheins 15,2 0,4 4 0,4 25,7 l,8 31,» 5,0 0,4 8 2,4 5,8 1,0» 4,o «>,2 4
Bayern l.d.RH.<Rbz. Pfalz) 18,4 — 15,4 34,2 1,8 23,8 0,2 0,»2 2,- 3,» 0,8» 0,8 0,»»

tiöingr. Üaycrn 1k, 2 l>,4» 7,» 23,8 1,7 30,8 s,4 0,4 4 2,4 4,7 0,»8 4,3 l>,4 8

Könjgr. Sachsen................. 14,» 0,4 4 1,8 8,2 30,8 5,8 0,U8 2,8 0,0 1,7» 3,» 0,3 8
Württembera ...................... >5,4 0,4 7 2,4 11,7 2,4 20,o 4,8 l',4 2 2,o 7,0 1,44 2,8 «>,28
Baden .......... 8,» 0,»4 2,8 141,4 1,4 20,8 4,4 0,448 2 5,3 0,«2 2,8 0,2»
Hessen.......... 12,« 0,4444 2,tt 0,7 0,» 10,» :;,0 0,»7 1,8 3,3 1,48 3,3 0,»»
Mecklenburg - Schwerin . . . '^7 1,3 8,o 0,4 244,8 23' 0,02 1,4 4,1 0,8 2 1,8 0,2 4
Sachsen, Weimar................. 11,8 44,.4» 2,2 4,» >,» 35, .> 7,» 0,0» 3,2 4,8 0,7 7 3,o «>,2 7
Mecklenburq. Strelitz.......... 2,3 0,2 7 1,8 7,o 0,4 20,8 2,« — 2,7 2,8 0,2 7 1,s 0,84
Oldenburg. . . 4,5 ?i,7 8,4 0,8 21,2 4,4 0,2 4 1,8 5,3 1,0» 4,2

0,28Braunschweig...................... 17^8 0, 4 2 !Z,3 7,0 0,3 32,a 5,2 0,4 2 2,8 3,3 0,8» 2,°
Sachsen - Meiningen............
Sachse» > Altenburg............
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Sachse»-Coburg-Gotha. . . 

Schwarzburg-Sondcrsh. . .
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^chwarzburg-Rudolstadt.. 
LLaldecs . .
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^euß älterer Linie............ II,» 0,28 41,8 14,7 0,8 31,8 3,7 — 3,4 5,« 0,2 8 3,7 0,28

^euß jüngerer Linie.......... o,» 0,8» >,« 4,» 1,3 45,2 7,3 0,4 4 1,« 5,8 0,8» 3,4 0,4 4
Schaumburg - Lippe............
L«ppe___ '

10,3 
^ «
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0,8
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Lübeck 9 3 5,0 I,» 0,4 40,8 4,8 — 5,4 7,2 I,»U 4,1 0,4 3
Bremen 10^7 0,4 8 4,3 0,» 0,7 40,» 10,8 0,37 >3,4 1,88 4,8 —
Hamburg
^ssaß, Lothringen...............

ei, 3 0,8 0,» 3«>, 44 0,7 0,so 3,7 7,1 1,74 3,o 0,4 2

!«>,» 0,08 4,o 11,8 0,4 >7,4 2,4 0,N2 1,3 2,2 0,84 3,i «>,»8

, Veulsches iieich 18,2 ü, 4 0 K,2 12,2 1,- 32,2 4,8 0,4» 2,7 s,7 0,8 4 3,6 l>,2»

Ausland .. .... — —

10


